
PROFESSIONAL EXAMINATION BOARD
Police Constable Recruitment Test ­ 2016

7th August 2016, 09:00 AM
Topic:­ General and Logical Knowledge
1)

Question Stimulus :­

Rohit is seventeenth from the left end of a row of 29 boys and Karan is seventeenth
from the right end in the same row. How many boys are there between them in the
row? / रोिहत का эथान 29 लड़को ंकी एक पᤀं漄ő के बाएँ ओर स ेसjहवा ँह ैऔर करन का эथान उसी पᤀं漄ő मg
दािहन ेके अतं स ेसjहवा ँह।ै िकतन ेलड़के पᤀं漄ő मg उन दोनो ंके बीच हġ?
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Data inadequate / अपयाᤀ漄ꀄ灀 जानकारी

Correct Answer :­3 

2)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकώ
चिुनए,जो तकᤀ漄 की 〄だिЊ स ेनीच ेिदए गए कथन के समान ह ै:

If Sam attended the lecture, then he did his homework / यिद समै लõेर मg सᤀ漄κिलत नही ंîआ था, तो
उसन ेअपना होमवकᤀ漄 िकया था।

If Sam didn't attend the lecture, he didn't do his homework. / यिद समै लõेर मg सᤀ漄κिलत नहीं
îआ था, तो उसन ेअपना होमवकᤀ漄 नही ंिकया था।

If Sam did his homework, then he attended the lecture. / यिद समै न ेअपना होमवकᤀ漄 िकया था,
तो वह लõेर  मg सᤀ漄κिलत îआ था।

If Sam didn't attend the lecture, he did his homework. यिद समै लõेर मg सᤀ漄κिलत नही ंîआ था,
तो उसन ेहोमवकᤀ漄 िकया था।

If Sam didn't do his homework, then he didn't attend the lecture. / यिद समै न ेअपना होमवकᤀ漄
नही ंिकया था, तो वह लõेर मg सᤀ漄κिलत नही ंîआ था।

Correct Answer :­If Sam didn't do his homework, then he didn't attend the lecture. / यिद
समै न ेअपना होमवकᤀ漄 नही ंिकया था, तो वह लõेर मg सᤀ漄κिलत नही ंîआ था। 



3)

Question Stimulus :­

How many numbers are immediately followed by a letter in the following sequence? / िनη
अनïुम मg, िकतनी सᜀं꼄ाएँ ऐसी हġ िजनके तरुंत बाद एक अ䤀퐅र ह?ै
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Correct Answer :­3 

4)

Question Stimulus :­

Which is the largest minerals producing state in India? / भारत मg सबस ेबड़ा खिनज उ̈ादक कौनसा रा伀稁 ह?ै

Bihar / िबहार

West Bengal / पिЖम बगंाल

Jharkhand / झारखडं

Karnataka / कनाᤀ漄टक

Correct Answer :­Jharkhand / झारखडं 

5)

Question Stimulus :­

If A + B means A is the father B and B+C means B is the daughter of C, how is C related to A? / यदि◌ A+B का अथᤀ漄 ह ैिक A, B
का िपता ह ैएव ंB+C का अथᤀ漄 ह ैिक B, C की पjुी ह,ै तो C, A स ेकैस ेस䀈िंधत ह?ै

C is the daughter of A / C, A की पjुी है

C is the sister of A / C, A की बहन है

C is the wife of A / C, A की प洃ी है

C is the son of A / C, A का पjु है



Correct Answer :­C is the wife of A / C, A की प洃ी ह ै

6)

Question Stimulus :­

Which one of these is a port on the western coastline of India? / इनमg स ेकौन सा भारत के पिЖमी तट पर एक
बदंरगाह ह?ै

Marmagoa / ममाᤀ漄गोवा

Paradeep / पारादीप

Tuticorin / ततूीकोᤀ漄रन

Ennore / एΌोर

Correct Answer :­Marmagoa / ममाᤀ漄गोवा 

7)

Question Stimulus :­

Kanchan Ghat is located across river______./ कंचन घाट _______नदी पर ᤀ漄эथत ह।ै

Chambal/ चबंल

Narmada/ नमᤀ漄दा

Betwa/ बतेवा

Yamuna/ यमनुा

Correct Answer :­Betwa/ बतेवा 

8)

Question Stimulus :­

Jhelum, Chenab and Ravi are tributaries of ________. / झलेम, चनेाब और रिव ________की उपनिदया ँहġ।

Indus / इडंस

Ganga / गगंा

Brahmaputra / ĺ蘀뀄पjु

Krishna / कृСा



Correct Answer :­Indus / इडंस 

9)

Question Stimulus :­

Juhi is the sister of Sunny. Sunny is the brother‐in‐law of Bobby. Divya is the sister of Bobby. How is Divya related to
Juhi? / जहूी सनी की बहन ह।ै सनी बॉबी का साला ह।ै िदҐा बॉबी की बहन ह।ै िदҐा जहूी स ेकैस ेसबंिंधत ह?ै

Sister / बहन

Sister‐in‐law / नΪ

Daughter / बटेी

Daughter‐in‐law / बî

Correct Answer :­Daughter‐in‐law / बî 

10)

Question Stimulus :­

The Attorney­General of India is appointed by / भारत का महाΎायवादी __के ¸ारा िनयőु िकया जाता ह।ै

The Chief Justice of India / भारत के मᜀु꼄 Ύायाधीश

The President / राЊᤀᘅपित

The Vice­President / उप­राЊᤀᘅपित

The Prime Minister / ĸधानमjंी

Correct Answer :­The President / राЊᤀᘅपित 

11)

Question Stimulus :­

The song ‘Saare jahan se accha’ was written by / गीत ‘सारे जहा ँस ेअẅा’ इनके ¸ारा िलखा गया था:

Bankim Chandra Chatterjee / बिंकमचΚ चटजᤀ䔅

Mohammed Iqbal / मोहκद इकबाल

Jai Shankar Prasad / जय शकंर ĸसाद

Rabindranath Tagore / रिबΚनाथ टगैोर



Correct Answer :­Mohammed Iqbal / मोहκद इकबाल 

12)

Question Stimulus :­

Select the statement that is the negation of the statement "Some poems don't make sense."
/ उस कथन को चनुg जो इस कथन का ĸितवाद ह ै"कुछ किवताएं अथᤀ漄हीन होती हġ।”

Some poets don't make sense. / कुछ किव न समझ होत ेहġ।

No poems make sense. / िकसी भी किवता का अथᤀ漄 नही ंहोता।

Some poems make sense. / कुछ किवताओ ंका अथᤀ漄 होता ह।ै

All poems make sense. / सभी किवताओ ंका अथᤀ漄 होता ह।ै

Correct Answer :­All poems make sense. / सभी किवताओ ंका अथᤀ漄 होता ह।ै 

13)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकώ
चिुनए,जो तकᤀ漄 की 〄だिЊ स ेनीच ेिदए गए कथन के समान ह ै:

If the article is impressive, then it gets selected. / यिद लखे ĸभावशाली ह,ै तो वह चयिनत होता ह।ै

If the article is not impressive, then it won’t get selected. / यिद लखे ĸभावशाली नही ंह,ै तो
वह चयिनत नही ंहोता ह।ै

If the article gets selected, then it is not impressive. यिद लखे चयिनत हो जाता ह,ै तो वह
ĸभावशाली नही ंह।ै

If the article doesn’t get selected, then it is not impressive. / यिद लखे चयिनत नही ंहोता
ह,ै तो वह ĸभावशाली नही ंह।ै

If the article gets selected, then it is impressive. / यिद लखे चयिनत होता ह,ै तो वह ĸभावशाली
ह।ै

Correct Answer :­If the article doesn’t get selected, then it is not impressive. / यिद लखे
चयिनत नही ंहोता ह,ै तो वह ĸभावशाली नही ंह।ै 

14)

Question Stimulus :­

A call centre operates between India, Japan and US. India is 12 hrs ahead of US, and 6 hrs
ahead of Japan, while Japan is 6hrs ahead of US. India works between 10 AM till 10 PM,
where as US works from 8 AM till 8 PM and Japan works from 9AM to 9PM. / एक कॉल सgटर
भारत, जापान और अमᤀे漄रका के बीच चलता ह।ै भारत 12 घटं ेअमᤀे漄रका स ेआग ेह,ै और 6 घटं ेजापान स ेआग ेह,ै जबिक



जापान 6 घटं ेअमᤀे漄रका स ेआग ेह।ै भारत सबुह 10 बज ेस ेरात 10 बज ेतक काम करता ह ैजबिक अमरीका सबुह 8 बज ेसे
रात 8 बज ेतक काम करता ह ैऔर जापान सबुह 9 बज ेस ेरात 9 बज ेतक काम करता ह।ै

A conference is to be held between US and India. How late can US ini僘�ate the conference with India given that it is an hour
long conference? / अमᤀे漄रका और भारत के बीच एक सभा आयोिजत की जा रही ह।ै िकतनी दरे स ेअमरीका भारत के साथ काlंgस
आरंभ कर सकता ह ैजो की 1 घ́ ेकी काlंgस होगी?

8 AM US local 僘�me / सबुह 8 बज ेय ूएस का эथानीय समय

9 AM US local 僘�me / सबुह 9 बज ेय ूएस का эथानीय समय

10 AM US local 僘�me / सबुह 10 बज ेय ूएस का эथानीय समय

11 AM US local 僘�me / सबुह 11 बज ेय ूएस का эथानीय समय

Correct Answer :­9 AM US local 僘�me / सबुह 9 बज ेय ूएस का эथानीय समय 

15)

Question Stimulus :­

1. A,B,C,D,E,F and G are sitting on a wall and all of them are facing east / A,B,C,D,E,F और G
एक दीवार पर पवूᤀ漄 की ओर मखु िकए îए बठैे हġ

2. C is on the immediate right of D / D के िबलकुल दािहनी ओर C ह ै

3. B is at an extreme end and has E as his neighbour / B िबलकुल आखीर मg ह ैऔर E उसका पड़ोसी है

4. G is between E and F / E और F के बीच मg G ह ै

5. D is sitting third from the south end / दि䤀퐅ण छोर स ेतीसरे эथान पर D बठैा है

 

Name the person who should change place with C such that he gets the third place from
the north end. / िकस Ґᤀ漄ő को C के साथ эथान बदलना चािहए, िजसस ेउसको उ̃र िसरे स ेतीसरी जगह िमल।े

E

F

G

D

Correct Answer :­G 

16)

Question Stimulus :­



Which one of these is the oldest dams constructed in 1010­1053 AD?  / इनमg स ेकौन सा सबसे
परुाना बाधँ िजसका 1010­1053 ई㄀�ी मg िनमाᤀ漄ण िकया गया था?

Barna Dam / बारना बाधं

Gandhisagar Dam  / गाधंी सागर बाधं

Cyclopean Dam / साइिकलोपीएन बाधं

Tawa Dam / तवा बाधं

Correct Answer :­Cyclopean Dam / साइिकलोपीएन बाधं 

17)

Question Stimulus :­

In the following diagram. / िनη आकृित मg

Circle S stands for households having a scooter;/ वृ̃ S उन पᤀ漄रवारो ंको दशाᤀ漄ता ह,ै िजनके पास
Чूटर ह।ै

Circle T stands for households having a TV set; / वृ̃ T उन पᤀ漄रवारो ंको दशाᤀ漄ता ह,ै िजनके पास
टीवी ह।ै

Circle W stands for households having a washing machine; / वृ̃ W उन पᤀ漄रवारो ंको दशाᤀ漄ता ह,ै
िजनके पास वािशगं मशीन ह।ै

Circle C stands for households having a car. / वृ̃ C उन पᤀ漄रवारो ंको दशाᤀ漄ता ह,ै िजनके पास कार ह।ै

Note: The different numbers indicates the non­over lapping regions. For example, S
represents unions of regions 1,11,12,8,9,10 and 6. / Ⰲान दg: Ⰲान दg: अलग­अलग सᜀं꼄ाएँ अनितҐापी
䤀퐅jेो ंको सिूचत करती हġ। उदाहरण के िलए, S 䤀퐅jे 1,11,12,8,9,10 और 6 के सघं को दशाᤀ漄ता ह।ै

Households having scooter, TV set and washing machine and not car are represented
by the region. / उन पᤀ漄रवारो,ं िजनके पास Чूटर, टी.वी और वािशगं मशीन ह ैलिेकन कार नही ंह ैिकस 䤀퐅jे ¸ारा
दशाᤀ漄या गया है



4

7

11

12

Correct Answer :­12 

18)

Question Stimulus :­

The Supreme Commander of the Armed Forces is / सशЮ बलो ंके सव䬀䬄ŵ सनेाⰂ䤀퐅 ह ै:

Field Marshal / सनेा का एक ĸधान अफ़सर

Chief of the Army Staff / सनेा ĸमखु

The President / राЊᤀᘅपित

Prime Minister / ĸधान मjंी

Correct Answer :­The President / राЊᤀᘅपित 

19)

Question Stimulus :­

If alphabet B is at bo炐�om face, which alphabet will appear on top face? / यिद अ䤀퐅र B िनचल ेफलक पर ह,ै तो उŵ तल
पर कौन सा अ䤀퐅र उपᤀ漄эथत होगा?

F

D

B

E

Correct Answer :­E 

20)



Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकώ चिुनए
जो िदए गए कथनो ंएव ंिनМष䬀䬄 के बारे मg सही ह।ै

Statements:  /  कथन:

All paintings are drawings  /  सभी िचj िचjकारी हġ

No drawing is a picture  /  कोई िचjकारी त㄀�ीर नही ंहै

Conclusions:  /  िनМषᤀ漄:

I.No painting is a picture  /  कोई िचj त㄀�ीर नही ंहै

II.No picture is drawing /  कोई त㄀�ीर िचjकारी नही ंहै

Only conclusion I follows / केवल िनМषᤀ漄 I िनकलता है

Only conclusion II follows / केवल िनМषᤀ漄 II िनकलता है

Both conclusion I and II follows / दोनो ंिनМषᤀ漄 I और II िनकलत ेहġ

None of the conclusion I or II follows / िनМषᤀ漄 I या II मg स ेकोई  नही ंिनकलता है

Correct Answer :­Only conclusion I follows / केवल िनМषᤀ漄 I िनकलता ह ै

21)

Question Stimulus :­

Vikas is taller than Sham but shorter than Umesh. Umesh is taller than Rajat but
shorter than Ganesh. If Shyam is taller than Rajat who is the shortest among all? /
िवकास Їाम स ेलबंा ह ैपर उमशे स ेनाटा ह।ै उमशे रजत स ेलबंा ह ैपर गणशे स ेनाटा ह।ै अगर Їाम रजत स ेलबंा ह ैतो
इनमg स ेसबस ेनाटा कौन ह?ै

Ganesh / गणशे

Umesh / उमशे

Rajat / रजत

Vikas / िवकास

Correct Answer :­Rajat / रजत 

22)

Question Stimulus :­

The Rural Sanita僘�on Ini僘�a僘�ves under ‘Namami Gange’ Programme has been launched in which state of India? /
'नमािम गगं'े कायᤀ漄ïम के तहत ĭामीण ㄀�ẅता की पहल भारत के िकस रा伀稁 मg की गई ह?ै



Bihar / िबहार

U炐�ar Pradesh / उ̃र ĸदशे

Jharkhand / झारखडं

West Bengal / पिЖम बगंाल

Correct Answer :­Jharkhand / झारखडं 

23)

Question Stimulus :­

Kaziranga tiger reserve is in / काजीरंगा बाघ अभयार擼� यहा ँह:ै

Arunachal Pradesh / अħणाचल ĸदशे

Bengal / बगंाल

Assam / असम

Jharkand / झारखˆ

Correct Answer :­Assam / असम 

24)

Question Stimulus :­

Who acts as the President of India when neither the President nor the Vice­President is available? / जब राЊᤀᘅपित
या उप­राЊᤀᘅपित दोनो ंही उपलᬀ笃 नही ंहोत ेहġ, तो भारत के राЊᤀᘅपित के iप मg कौन कायᤀ漄 करता ह?ै

Speaker of Lok Sabha / लोक सभा अⰂ䤀퐅

Chief Justice of India / भारत के मᜀु꼄 Ύायमिूतᤀ漄

Auditor General of India / भारत के महालखेापरी䤀퐅क

Senior most Governor of a state / रा伀稁 के सबस ेवᤀ漄रП रा伀稁पाल

Correct Answer :­Chief Justice of India / भारत के मᜀु꼄 Ύायमिूतᤀ漄 

25)

Question Stimulus :­

Who has been awarded Rajiv Gandhi Khel Ratna Award – 2013­14 / राजीव गाधँी खले र洃 परुЧार – 2013­14 से
िकसको नवाज़ा गया था



M.C. Mary Kom / एम. सी. मरैी कॉम

Vijendra Singh / िवजΚेिसहं

Sushil Kumar / सिुशल कुमार

None of the above / उपयᤀु漄ő मg स ेकोई नहीं

Correct Answer :­None of the above / उपयᤀु漄ő मg स ेकोई नही ं

26)

Question Stimulus :­

Find the word that represents the category of the following three words. / वह श一稃 倀ꔃात कीिजये
जो िनη तीन श一稃ो ंकी mणेी को दशाᤀ漄ता है

Cap, Coat, Trousers / टोपी, कोट, पġट

Smart / 蘀㨃ाटᤀ漄

Shirt / कमीज़

Dress / पोशाक

Tailor / दजᤀ䔅

Correct Answer :­Dress / पोशाक 

27)

Question Stimulus :­

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the
third term./ िनη ĸЍ मg, पहल ेदो श一稃ो ंके बीच िकसी ĸकार का कोई सबंधं ह|ै िनη िवकώो ंमg स ेचौथा पद चिुनये
िजसका तीसरे पद के साथ उसी ĸकार का सबंधं ह|ै

K/T : 11/20 : : J/R : ?

10/8

10/18

5/9

11/19

Correct Answer :­10/18 

28)



28)

Question Stimulus :­

The major city that Kshipra passes through is___. /एक ĸमखु शहर िजसस े िशĸा नदी गज़ुरती ह।ै

Ujjain / उźनै

Morena / मरुैना

Gwalior / ũािलयर

Sagar / सागर

Correct Answer :­Ujjain / उźनै 

29)

Question Stimulus :­

The Tawa Reservoir is nestled between the  / तवा जलाशय िनу न के बीच बसा है

Satpura national park and the Bani Sanctuary / सतपड़ुा राь टᤀᘅीय उᔄान व बानी अ縀舆 यारй य

Kolar  and the Halahi dam / कोलार व हलही बाधं

Rani Avantibai Sagar and the Sukta Sagar / रानी अवतंीबाई सागर एव ंस蘀ु氆 ता सागर

Vyarma and Barna rivers / щ यारमा व बरना नदी

Correct Answer :­Satpura national park and the Bani Sanctuary / सतपड़ुा राь टᤀᘅीय उᔄान व बानी अ縀舆 यारй य 

30)

Question Stimulus :­

Anil remembers that his father’s birthday falls after 15th of Jan but after 18th of Jan ,
Dolly the sister of Anil, remembers that her father’s birthday falls on any day between
16th of Jan and 19th of Jan. Find out on what date the birthday of Anil’s father will fall. /
अिनल को याद ह ैिक उसके िपता का जΥिदन 15 जनवरी के बाद पड़ता ह ैपर 18 जनवरी के पЖात डॉली, जो अिनल की
बहन ह,ै को याद आया िक उसके िपता का जΥिदन 16 जनवरी और 19 जनवरी के बीच मg पड़ता ह।ै पता लगाएं िक अिनल के
िपता का जΥिदन िकस िदनाकं पर पड़गेा।

16th Jan  / 16 जनवरी

19th Jan / 19 जनवरी

17th Jan / 17 जनवरी

18th Jan / 18 जनवरी



Correct Answer :­17th Jan / 17 जनवरी 

31)

Question Stimulus :­

The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form
meaningful word. / श一稃ो ंके अҐवᤀ漄эथत अ䤀퐅र नीच ेिदय ेगय ेहġ| ĸ竼�के अ䤀퐅र को सᜀं꼄ािंकत िकया गया ह|ै वह
िवकώ चिुनय ेजो साथᤀ漄क श一稃 की रचना के िलय ेसᜀं꼄ाओ ंके iप मg अ䤀퐅रो ंका सही ïम दतेा ह|ै

T I R B H G

1 2 3 4 5 6

1,3,2,4,6,5

3,2,6,5,4,1

4,3,2,6,5,1

4,5,2,3,6,1

Correct Answer :­4,3,2,6,5,1 

32)

Question Stimulus :­

Who among the following got the ‘Bharat Ratna’ award, before becoming the President of India? / िनη मg से
िकसको भारत के राЊᤀᘅपित बनन ेस ेपहल े'भारत र洃' परुЧार िमला था?

R.Venkataraman / आर. वgकटरमन

Dr. Rajendra Prasad / डॉ. राजΚे ĸसाद

Dr. Zakir Hussain / डॉ. जािकर îसनै

V.V. Giri / वी.वी. िगरी

Correct Answer :­Dr. Zakir Hussain / डॉ. जािकर îसनै 

33)

Question Stimulus :­

Humayun’s Tomb is located at / îमायूँ का मकबरा यहा ँᤀ漄эथत ह:ै

Fatehpur Sikhri / फतहेपरु िसकरी

Agra / आगरा



Delhi / िद紀␂ी

Hyderabad / हदैराबाद

Correct Answer :­Delhi / िद紀␂ी 

34)

Question Stimulus :­

Who wrote the book ‘Why Socialism’? / ‘Ѐाई सोशिल娀fl’ पЭुक िकसन ेिलखी?

Mahatma Gandhi / महा渃ा गाधँी

Jawaharlal Nehru / जवाहरलाल नहेħ

Jayaprakash Narayan / जयĸकाश नारायण

Bal Gangadhara Tilak / बाल गगंाधर ितलक

Correct Answer :­Jayaprakash Narayan / जयĸकाश नारायण 

35)

Question Stimulus :­

Indore is in the meeting place of rivers_______. / इदंौर, ____निदयो ंकी सगंम की जगह ह।ै

Narmada and Tapti / नमᤀ漄दा और ताꀄ灀ी

Sindu and Shipra / िसधं ुऔर ि䤀퐅ĸा

Shipra and Ken / िशĸा और केन

Kanha and Saraswati / काΨा और सर㄀�ती

Correct Answer :­Kanha and Saraswati / काΨा और सर㄀�ती 

36)

Question Stimulus :­

In the following question, some group of letters is given, all of which, except one,
share a common similarity while one is different. Choose the odd one out. / िनη ĸЍ मg,
कुछ श一稃ो ंके समहू िदय ेगय ेहġ, जो सभी, केवल एक को छोड़कर, समान हġ जबिक एक अलग ह ै| िवषम वाल ेको
चिुनय े|

HGF

XWV



NML

OPQ

Correct Answer :­OPQ 

37)

Question Stimulus :­

Who wrote “Mother India”? / “मदर इिंडया" िकसन ेिलखी थी?

Lala Lajpat Rai / लाला लाजपत राय

Miss Katharine Mayo / िमस कैथᤀे漄रन  मयेो

M.K. Gandhi / एम.के. गाधँी

Pt. Jawarharlal Nehru / पिंडत जवाहरलाल नहेi

Correct Answer :­Miss Katharine Mayo / िमस कैथᤀे漄रन  मयेो 

38)

Question Stimulus :­

Which religion did Ashoka convert to towards the later part of his life? / अपन ेजीवन के अिंतम भाग मg सļाट
अशोक न ेिकस धमᤀ漄 को अपनाया था?

Bahaism / बहाई धमᤀ漄

Jainism / जनै धमᤀ漄

Sikhism / िसख धमᤀ漄

Buddhism / बौᔄ धमᤀ漄

Correct Answer :­Buddhism / बौᔄ धमᤀ漄 

39)

Question Stimulus :­

If mobile phone is turned on, then if someone cries then the rotator rotates. The
rotator is stationary and someone cried, then phone must be turned off. / अगर मोबाइल को
ऑन िकया गया ह,ै तो यिद कोई रोता ह ैतो रोटटेर घमूता ह।ै रोटटेर ᤀ漄эथर ह ैऔर कोई रोया ह,ै तो फोन जiर बदं होगा।

True / सही

False / गलत



Maybe / हो सकता है

Irrelevant / अĸासिंगक

Correct Answer :­True / सही 

40)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकώ चिुनए
जो िदए गए कथनो ंएव ंिनМष䬀䬄 के बारे मg सही ह।ै

Statements:  /  कथन:

All roses are lilies  /  सभी गलुाब िलली हġ

Some roses are red  /  कुछ गलुाब लाल हġ

Conclusions:  /  िनМषᤀ漄:

I. Some lilies are red  /  कुछ िलली लाल हġ

II. Some red are lilies / कुछ लाल िलली हġ

Only conclusion I follows / केवल िनМषᤀ漄 I िनकलता है

Only conclusion II follows / केवल िनМषᤀ漄 II िनकलता है

Both conclusion I and II follows / दोनो ंिनМषᤀ漄 I और II िनकलत ेहġ

None of the conclusion I or II follows / िनМषᤀ漄 I या II मg स ेकोई  नही ंिनकलता है

Correct Answer :­Both conclusion I and II follows / दोनो ंिनМषᤀ漄 I और II िनकलत ेहġ 

Topic:­ Mental Ability and Mental Aptitude
1)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय ेïम मg अगली आकृित
कौन सी होगी?



Correct Answer :­  

2)

Question Stimulus :­

In the following question, one term in the number series is wrong. Find out the wrong
term. / िनη ĸЍ मg, सᜀं꼄ा mखंला मg एक पद गलत ह|ै गलत पद 倀ꔃात कीिजय|े  56,72,90,110,132,150

72

90

10

150

Correct Answer :­150 

3)

Question Stimulus :­

The sum of three numbers is 672 and these numbers are in the ratio of 5:4:7.
What is the third number? / तीन सᜀं꼄ाओ ंका जोड़ 672 ह ैऔर य ेसᜀं꼄ाएँ 5:4:7 के अनपुात मg
हġ। तीसरी सᜀं꼄ा sा ह?ै



604

394

494

294

Correct Answer :­294 

4)

Question Stimulus :­

On selling tea at Rs. 40 per kg, loss of 10% is incurred. Calculate the amount of tea sold, if the total loss
is 80? / 40 ħपय ेĸित िकलो पर चाय बचेन ेपर 10% का नकुसान îआ ह।ै बचेी îई चाय की रािश की गणना करg यिद कुल
नकुसान 80 ह?ै

20kg / िकलो

19kg / िकलो

18kg / िकलो

17kg / िकलो

Correct Answer :­18kg / िकलो 

5)

Question Stimulus :­

Simplify:   .  / सरल कीिजए:  .

2

3

None of these / इनमg स ेकोई नहीं

Correct Answer :­  

6)



Question Stimulus :­

What will be the next term in the series? / mृंखला मg अगला पद sा होगा?

arm, bed, car, dog, ear, fox, gun, hen,_________

egg

ink

pen

men

Correct Answer :­ink 

7)

Question Stimulus :­

If STARE is coded as 68234 and VAIN is coded as 5291, how will RAVINE be coded? / यिद STARE को 68234 स ेकोिडत
िकया जाता ह ैऔर VAIN को 5291 स ेकोिडत िकया जाता ह,ै तो RAVINE को कैस ेकोिडत िकया जायगेा?

326918

325914

328514

238154

Correct Answer :­325914 

8)

Question Stimulus :­

In a certain code  ‘salt pan owners’  is written as ‘deje jede deej’  ;   ‘owners of house’  is
written as  ‘eedje deej jeed’   and   ‘club house member’ is written as    ‘jeed  doje jode’  .
In that code the word  ‘of’  is used for : / िकसी खास कोड मg, ‘salt pan owners’ को ‘deje jede
deej’ िलखा जाता ह ै; ‘owners of house’ को ‘eedje deej jeed’ िलखा जाता ह ैऔर ‘club house member’
को ‘jeed  doje jode’  िलखा जाता ह|ै उस कोड मg श一稃 ‘of’ इसके िलए ĸयोग िकया जायगेा

eedje

deje

deej

jede



Correct Answer :­eedje 

9)

Question Stimulus :­

The length of the bridge, which a train 210m long and traveling at 50kmph can cross in 27sec is / 50 िकमी ĸित घटं ेकी
गित स ेचलन ेवाली 210 मी ल䀈ी एक टᤀᘅन पलु को 27सकेंड मg पार कर सकती ह,ै पलु की ल䀈ाई होगी

200 m/ 200 मी

180 m/ 180 मी

175 m/ 175 मी

165 m/ 165 मी

Correct Answer :­165 m/ 165 मी 

10)

Question Stimulus :­

40% of the girls in a class are NCC cadets. The class has 50 students. Girls from 30% of the class. How many girl NCC cadets
are there? / एक क䤀퐅ा मg 40% लड़िकया ँNCC कैडटे हġ| क䤀퐅ा मg 50 िव̇ाथᤀ䔅 हġ| क䤀퐅ा मg 30% लड़िकया ँहġ| िकतनी
लड़िकया ँNCC कैडटे हġ?

20

15

6

35

Correct Answer :­6 

11)

Question Stimulus :­

A pipe can fill a tank thrice as fast as another pipe. If both are opened together then the tank is fill in 36
min. The faster pipe alone can fill the tank in / एक पाईप एक टġक को दूसरी पाईप की अप䤀े퐅ा तीन गनुा तजेी स ेभर
सकता ह।ै यिद दोनो ंको साथ मg चाल ूिकया जाता ह ैतो टġक 36 िमनट मg भर जाता ह।ै तजे गित वाला पाईप अकेल ेटġक को
इतन ेसमय मg भर सकता है

24 min / 24 िमनट

28 min / 28 िमनट



30 min / 30 िमनट

35 min / 35 िमनट

Correct Answer :­24 min / 24 िमनट 

12)

Question Stimulus :­

In a certain code  ‘New age school’  is written as ‘kom fedal fena’ ;   ‘Old age company’ is
written as   ‘sena fena zena’  and   ‘ top business school’ is written as  ‘ kom pom dom’. In
that code the word   ‘new’  is used for : / िकसी खास कोड मg, ‘New age school’ को ‘kom fedal
fena’ िलखा जाता ह ै; ‘Old age company’ को ‘sena fena zena’ िलखा जाता ह ैऔर ‘ top business
school’ को ‘ kom pom dom’  िलखा जाता ह|ै उस कोड मg श一稃 ‘new’ का ĸयोग इसके िलए िकया जाता है

fena

fedal

sena

zena

Correct Answer :­fedal 

13)

Question Stimulus :­

What is the average of first five multiples of 3? / 3 के पहल ेपाचँ बîगणुो ंका औसत sा ह?ै

3

9

12

6

Correct Answer :­9 

14)

Question Stimulus :­

If 6x+10y=58 and x+y=8, the value of x & y are / यिद 6x+10y=58 और x+y=8, तो x और y
के मान हġ

5.5, 2.5



5,2

1,0

None of these / इनमg स ेकोई नहीं

Correct Answer :­5.5, 2.5 

15)

Question Stimulus :­

If alphabets are encrypted as numbers, which one of the following is the value of H+B+F?
/ यिद अ䤀퐅रो ंको सᜀं꼄ाओ ंके iप मg एᤀ漄ќïΏ िकया गया ह,ै तो िनη मg स ेकौन सा एक H+B+F का मान ह?ै

20

16

17

15

Correct Answer :­16 

16)

Question Stimulus :­

An integer is chosen at random from first 75 posi僘�ve integers. Find the probability that the integer is a mul僘�ple of 16
or 9? / एक पणूाᤀᘅक पहल े75 सकारा渃क पणूाᤀᘅक स ेअिनयिमत ढगं स ेचनुा जाता ह।ै sा सभंावना ह ैिक पणूाᤀᘅक 16 या 9 का
गणुा ह?ै

3/25

4/25

1/5

6/25

Correct Answer :­4/25 

17)

Question Stimulus :­

In a certain code language  RADIO  is coded as SBEJP then in that language TELEPHONE is
coded as: / िकसी खास साकंेितक भाषा मg, RADIO को SBEJP स ेकोिडत िकया जाता ह ैतो उस भाषा मg
TELEPHONE को ऐस ेकोिडत िकया जायगेा:



UFMFQIPOF

UFMFQIPMF

UDMDQIPOF

UFMFQIPOD

Correct Answer :­UFMFQIPOF 

18)

Question Stimulus :­

In how many ways can a garland be formed from 10 different flowers? / एक फूलमाला 10 िविभΌ फूलो ंका ĸयोग करके
िकतन ेतरीको ंमg बनायी जा सकती ह?ै

10!

9!

1/2 10!

1/2 9!

Correct Answer :­1/2 9! 

19)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / िनη िदयg गय ेचार पतो ंमg स ेनीच ेिदय ेगय ेपत ेके ठीक समान कौन सा एक नही ंह?ै   

 

Regent's Park surgeries
Feb 19, 2010
Crowndale Centre,

Eversholt Street NW1

(i) Regent's Park surgeries
Feb 19, 2010
Crowndale Centre,

Eversholt Street NW1

(ii) Regent's Park surgeries
Feb 19, 2010
Crowndale Centre,



Eversholt Street NW1

(iii) Regent's Park surgeries
Feb 19, 2010
Crowndole Center,

Eversholt Street NW1

 
(iv) Regent's Park surgeries
Feb 19, 2010
Crowndale Centre,

Eversholt Street NW1

i

ii

iii

iv

Correct Answer :­iii 

20)

Question Stimulus :­

If x% of y = z, then what percent of z is x?/ यिद y का x% = z, तो z का िकतना ĸितशत x ह?ै

y2/100

y/1002

1002/y

100/y2

Correct Answer :­1002/y 

21)

Question Stimulus :­

9  ­  8 x 2 + 16 = ?

9

18



25

0

Correct Answer :­9 

22)

Question Stimulus :­

Complete the series choosing the missing letter: / िवलꀄु灀 अ䤀퐅र चनुकर mखंला को परूा कीिजए:

C, __,  I, L, O, R,

F

E

G

H

Correct Answer :­F 

23)

Question Stimulus :­

The cost of an article is Rs 9504 after getting 15% discount. What is the original price in
Rupees?/ 15% की छूट के बाद एक वЭ ुकी कीमत 9504 ह।ै  ĸारंिभक कीमत ħपए मg sा ह?ै

10700

10900

10850

10800

Correct Answer :­10800 

24)

Question Stimulus :­

Find the odd one out / िवषम सᜀं꼄ा 倀ꔃात कीिजए:

2, 3, 5, 7, 9, 13

5



13

7

9

Correct Answer :­9 

25)

Question Stimulus :­

Two trains of equal length are running on parallel lines in the same direc僘�on at 46kmph and 42kmph. The faster train
passes the slower train in 180sec. What is the length of the each train? / बराबर लबंाई की दो टᤀᘅनg समानातंर पटᤀ漄रयो ंपर
एक ही िदशा मg 46 िकमी/घटंा और 42 िकमी/घटंा की गित स ेचल रही हġ। तजे गित स ेचलन ेवाली टᤀᘅन धीमी टᤀᘅन को 180
सकेgड मg पार करती ह।ै ĸ竼�के टᤀᘅन की लबंाई िकतनी ह?ै

90 m / 90 मी

120 m / 120 मी

100 m / 100 मी

80 m / 80 मी

Correct Answer :­100 m / 100 मी 

26)

Question Stimulus :­

What is the minimum number of straight lines needed to build the following figure? / िनη आकृित को बनान ेके िलये
Ύनूतम सᜀं꼄ा म◌ें िकतनी सीधी रेखाओ ंकी आवЇकता होगी?

9

11



13

15

Correct Answer :­15 

27)

Question Stimulus :­

The product of largest 4‐digit and smallest 5‐digit number is: / सबस ेबढ़ी 4­अकं की सᜀं꼄ा और सबस ेछोटी 5­अकं
की सᜀं꼄ा का गणुनफल होगा

9990000

9999000

99990000

99900000

Correct Answer :­99990000 

28)

Question Stimulus :­

A man bought a bag of rice weighing 30 kg for Rs. 420. He sold rice in the retail market at Rs. 15.05 per kg. What was his
profit percentage? / एक आदमी 30 िकलोĭाम वजन वाला चावल का एक थलैा 420 i० मg खरीदता ह|ै उसन े15.05
ħपय ेĸित िकलोĭाम की दर स ेखदुरा बाजार मg चावल बचे िदया। उसका लाभ ĸितशत sा था?

10

15

7½

14

Correct Answer :­7½ 

29)

Question Stimulus :­

The below series uses a sequence of alphabets and numbers. Identify the incorrect
combination. / नीच ेदी गई mखंला अ䤀퐅रो ं एव ंसᜀं꼄ाओ ंका अनïुम ĸयोग करती ह|ै गलत सयंोजन पहचािनय|े

 

(i) X9885Y32032   



(ii) X9845Y32032              

(iii) X9845Y32032       

(iv) X9845Y32032

i

ii

iii

iv

Correct Answer :­i 

30)

Question Stimulus :­

Complete the series choosing the missing number: / िवलꀄु灀 सᜀं꼄ा चनुकर mखंला को परूा कीिजए :

1, 2, 5, 10, 17, _____

21

19

26

29

Correct Answer :­26 

Topic:­ Science and Simple Arithmetic
1)

Question Stimulus :­

Budding, Binary fission, Multiple fission etc  are types of ________ / मकुुलन, ि¸िवखडंन, बî
िवखडंन आिद िकसके ĸकार हġ?

Sexual reproduction / यौन पनुïादन

Asexual reproduction / अलġिगक पनुïादन

Fertilisation / िनषचेन

Metamorphosis / कायातंरण



Correct Answer :­Asexual reproduction / अलġिगक पनुïादन 

2)

Question Stimulus :­

 = ___________

4ab

Correct Answer :­  

3)

Question Stimulus :­

The poisonous gas produced from incomplete burning of fossil fuel is / जीवाІ ईधन के अधरूे जलन ेके कारण उतपΌ îई
िवषलैी गसै है

Oxygen / ऑᤀ漄ťजन

Hydrogen / हाइडᤀᘅोजन

Carbon dioxide / कॉबᤀ漄न डाइऑťाइड

Carbon monoxide / कॉबᤀ漄न मोनोťाइड

Correct Answer :­Carbon monoxide / कॉबᤀ漄न मोनोťाइड 

4)

Question Stimulus :­

If A = 45o, 2sin A cos A = _________ / यिद A = 45o, 2sin A cos A = ________

cos 2A

sin2 A

sin 2A



cos2 2A

Correct Answer :­sin 2A 

5)

Question Stimulus :­

The process of fusion of the male and the female gamete is called / नर और मादा यuुक के सᤀ漄κmण की ĸिïया
कहलाती है

Polina僘�on / परागण

Fer僘�liza僘�on / िनषचेन

Seed forma僘�on / बीज िनमाᤀ漄ण

Reproduc僘�on / पनुïादन

Correct Answer :­Fer僘�liza僘�on / िनषचेन 

6)

Question Stimulus :­

A magnifying glass is a / एक आवधᤀ漄क लgस होता ह ै­

Convex lens / उ̃ल लgस

Concave  mirror / अवतल दपᤀ漄ण

Concave lens / अवतल लgस

Convex mirror / उ̃ल दपᤀ漄ण

Correct Answer :­Convex lens / उ̃ल लgस 

7)

Question Stimulus :­

Which slogan is best suited for supporting the prevention of Environmental pollution? / कौन सा नारा पयाᤀ漄वरण
ĸदूषण की रोकथाम मg सहायता के िलए सबस ेअिधक उपयőु ह?ै

Use as much of plastics as possible. / िजतना सभंव हो उतनी अिधक 㸀較ाᤀ漄Ьक का उपयोग करो।

Say no to plastics. / 㸀較ाᤀ漄Ьक को ना कहg।

Use plastics─ anywhere and everywhere. / 㸀較ाᤀ漄Ьक का उपयोग करg­ कही ंभी और कभी भी।



Plastics ─ the wonder material of the world today.  / 㸀較ाᤀ漄Ьक ­ आज की दिुनया का आЇचᤀ漄जनक
पदाथᤀ漄।

Correct Answer :­Say no to plastics. / 㸀較ाᤀ漄Ьक को ना कहg। 

8)

Question Stimulus :­

Sliding friction is always / सिपᤀ漄ल घषᤀ漄ण सदवै होता ह ै:

less than rolling friction / ब紀े␂न घषᤀ漄ण स ेकम

greater than rolling friction / ब紀े␂न घषᤀ漄ण स ेअिधक

equal to rolling friction / ब紀े␂न घषᤀ漄ण के समान

greater than static friction / эथिैतक घषᤀ漄ण स ेअिधक

Correct Answer :­greater than rolling friction / ब紀े␂न घषᤀ漄ण स ेअिधक 

9)

Question Stimulus :­

You must complete the course of antibiotics, prescribed by the doctor. Why is this statement important? / आपको
िचिक鿼�क ¸ारा िनधाᤀ漄ᤀ漄रत एंटीबायोिटक का कोसᤀ漄 जiर परूा करना चािहए। यह वाs sो ंजiरी ह?ै

Doctors are authorities in prescribing medicines / दवाओ ंके िनधाᤀ漄रण मg िचिक鿼�क ĸािधकारी हġ

Wrong doses can make the person resistant to that antibiotic  / गलत खरुाक Ґᤀ漄ő को उस
एंटीबायोिटक का ĸितरोधी बना सकती है

Antibiotics should not be wasted / एंटीबायोिटक को बबाᤀ漄द नही ंिकया जाना चािहए

Useful bacteria may not grow / उपयोगी जीवाण ुका िवकास नही ंहोगा

Correct Answer :­Wrong doses can make the person resistant to that antibiotic  / गलत
खरुाक Ґᤀ漄ő को उस एंटीबायोिटक का ĸितरोधी बना सकती ह ै

10)

Question Stimulus :­

Answer the questions that follow based on the following data: / िनηिलᤀ漄खत डटेा के आधार पर आने
वाल ेĸЍो ंका जवाब दg



Given that the house rent from 2005 till 2008 has increased at constant rate of 5%,
which year has the employee been able to save the maximum in his HRA? / य ेजानत ेîए िक
2005 स े2008 तक घर का िकराया 5 ĸितशत की ᤀ漄эथर दर पर बढ़ा ह,ै कौन स ेवषᤀ漄 मg कमᤀ漄चारी न ेअपन ेएचआरए मg
अिधकतम बचत की ह?ै

2005

2006

2007

2008

Correct Answer :­2008 

11)

Question Stimulus :­

Mercury is used in thermometer because it / पारा का ĸयोग थमाᤀ漄मीटर मg िकया जाता ह ैsोिंक यह :

Does not stick to the glass / काचँ स ेिचपकता नही ंहै

It expands uniformly / समान iप स ेĸसाᤀ漄रत होता है

It is silvery white and can be seen clearly / यह चादँी जसैा सफेद होता ह ैएव ं蠀ᰄЊत: दखेा जा सकता है

All of the above / उपरोő सभी

Correct Answer :­All of the above / उपरोő सभी 

12)



Question Stimulus :­

The value of (53)­4                is _______ / (53)­4  का मान______________ह।ै

5­12

5­1

5­0.75

512

Correct Answer :­5­12 

13)

Question Stimulus :­

Answer the questions that follow based on the following data: / िनηिलᤀ漄खत डटेा के आधार पर आने
वाल ेĸЍो ंका जवाब दg

If a performance bonus (8.33% of CTC) is given to all employees in retrospect from 2006,
what is the amount that the employee receives? / 2006 के पनुवाᤀ漄लोकन के पЖात यिद कायᤀ漄कुशलता लाभ
जो िक  सीटीसी का 8 . 33 ĸितशत  ह ैसमЭ कमᤀ漄चाᤀ漄रयो ंको िदया जाता ह ैतो कमᤀ漄चारी को sा रािश ĸाꀄ灀 होगी?

Rs.158000

Rs.165769

Rs.173450

Rs.174930



Correct Answer :­Rs.174930 

14)

Question Stimulus :­

Which of the following statements is true? / िनη म ेस ेकौन सा कथन सही ह?ै

logxx = 0, for all values of x / logxx = 0, x के सभी मानो ंके िलए

loga(xy) = logax + logay

logax = logbx, for all values of a and b / logax = logbx, a और b के सभी मानो ंके िलए

loga(x
p) = a logpx

Correct Answer :­loga(xy) = logax + logay 

15)

Question Stimulus :­

Answer the questions that follow based on the following data: / िनηिलᤀ漄खत डटेा के आधार पर आने
वाल ेĸЍो ंका जवाब दg

If the overall hike %age is 11% across the company in 2009, what would be the
minimum salary of the employee? / यिद 2009 मg कήनी मg सήणूᤀ漄 बढ़ोतरी 11 ĸितशत îई ह,ै तो कमᤀ漄चारी
का Ύनूतम वतेन sा होगा?

Rs.900000

Rs.910200



Rs.920000

Cannot be determined / 倀ꔃात नही ंिकया जा सकता

Correct Answer :­Cannot be determined / 倀ꔃात नही ंिकया जा सकता 

16)

Question Stimulus :­

In an examination, there are 3 papers of mathematics of 100 marks each.  A girl secures
70% in the first paper and 80% in the second paper.  In order to secure 80% in the
aggregate the percentage of marks she should secure in the third paper will be: / एक परी䤀퐅ा
मg, 100 अकं ĸित पपेर के गिणत के 3 पपेर हġ। एक लड़की न ेपहल ेपपेर मg 70% एव ंदूसरे मg 80% सिुनिЖत िकया।
पणूᤀ漄योग मg 80% सिुनिЖत करन ेके िलए उस ेतीसरे पपेर मg िकतना ĸितशत सिुनिЖत करना होगा:

90%

80%

75%

70%

Correct Answer :­90% 

17)

Question Stimulus :­

If 7 : x = 17.5 : 22.5, then the value of x is: / यिद 7 : x = 17.5 : 22.5, तब x का मान ह:ै

6

9

5.5

7.5

Correct Answer :­9 

18)

Question Stimulus :­

If the radius of the base of a right‐circular cylinder is halved, keeping the height same, what is the ra僘�o of the surface
area of the reduced cylinder to that of the original one. / यिद लबं वतृीय बलेन के आधार की िj伀稁ा को आधा कर िदया
जाए, और उसकी ऊँचाई समान रखी जाए, तब लघकुृत बलेन के पПृीय 䤀퐅jेफल का मलू बलेन के पПृीय 䤀퐅jेफल से
अनपुात होगा



1 : 4

1 : 8

1 : 2

8 : 1

Correct Answer :­1 : 2 

19)

Question Stimulus :­

Which among the following options is not true for a Chemical change ? / िनη मg स ेकौन सा िवकώ रासायिनक
पᤀ漄रवतᤀ漄न के िलए स竼� नही ंह?ै

Generally there is an energy change after the reaction. / सामाΎ iप स ेअिभिïया के पЖात ऊजाᤀ漄 मg
पᤀ漄रवतᤀ漄न होता ह।ै

Properties of products are different from properties of  reactants. / उ̈ादो ंके गणुधमᤀ漄
अिभकारको ंके गणुधमᤀ漄 स ेिभΌ होत ेहġ।

Most of the chemical changes are irreversible. / अिधकतर रासायिनक पᤀ漄रवतᤀ漄न अनु̌ मणीय होत ेहġ।

No new substances are formed. / कोई नय ेपदाथᤀ漄 का िनमाᤀ漄ण नही ंहोता ह।ै

Correct Answer :­No new substances are formed. / कोई नय ेपदाथᤀ漄 का िनमाᤀ漄ण नही ंहोता ह।ै 

20)

Question Stimulus :­

In extreme cold countries people do not wear just sweaters but they wear layers of warm clothing. This is done
because / अ竼�तं ठˆ ेदशेो ंमg लोग केवल ㄀�टेर नही ंपहनत ेबᤀ漄π व ेगमᤀ漄 वЮ की परतg पहनत ेहġ| यह िकया जाता है
sोिंक

Friction between the layers of clothing produces heat. / वЮो ंकी परतो ंके बीच का घषᤀ漄ण ऊѴा उतपΌ
करता है

Air trapped between the layers of clothing is a bad conductor of heat. / वЮो ंकी परतो ंके बीच कैद हवा ऊѴा
का कुचालक होती है

Wool used to knit sweater is a conductor of heat. / ㄀�टेर बनुन ेके िलय ेĸयोग की जान ेवाली ऊन ऊѴा का
चालक है

Air trapped between layers of clothing is a good conductor of heat / वЮो ंकी परतो ंके बीच कैद हवा ऊѴा
का सचुालक होती है



Correct Answer :­Air trapped between the layers of clothing is a bad conductor of heat. / वЮो ंकी परतो ंके
बीच कैद हवा ऊѴा का कुचालक होती ह ै

21)

Question Stimulus :­

Answer the questions that follow based on the following data: / िनηिलᤀ漄खत डटेा के आधार पर आने
वाल ेĸЍो ंका जवाब दg

In 2009, if the rent of his house increases from 8000 to 9500, what salary should the
employee get inorder to adjust this as part of HRA? / यिद 2009 मg कमᤀ漄चारी के घर का िकराया 8000
स ेबढ़कर 9500 हो जाए तो कमᤀ漄चारी को िकतना वतेन िमलना चािहए िजसस ेिक य ेएचआरए के साथ मg समायोिजत हो
जाए?

Rs.900000

Rs.950000

Rs.905000

Rs.895000

Correct Answer :­Rs.905000 

22)

Question Stimulus :­

Which of the following pair of teeth help in chewing and grinding the food? / िनη मg स ेकौन सा दातं का यuु भोजन
को चबान ेऔर पषेण करन ेमg मदद करत ेहġ?

Canines and incisors / रदनक और कृंतक 



Molars and premolars / चवणᤀ漄क और अĭचवᤀ漄णक

Incisors and molars / कृंतक और चवणᤀ漄क

Premolars and canines / अĭचवᤀ漄णक और रदनक

Correct Answer :­Molars and premolars / चवणᤀ漄क और अĭचवᤀ漄णक 

23)

Question Stimulus :­

Stainless steel vessels with copper bottom is preferred for cooking because /कॉपर तली के Ьनेलसे Ьील के पाj खाना
पकान ेके िलय ेपसदं िकय ेजात ेहġ sोिंक

Copper bottom makes them durable. / कॉपर की तली उΨg िटकाऊ बनाती है

It enhances taste of the food / यह खान ेके ㄀�ाद को बढ़ा दतेी है

Copper is better conductor of heat than the stainless steel. / कॉपर, Ьनेलसे Ьील स ेऊѴा का बहेतर
चालक है

Copper is easier to clean than the stainless steel. / कॉपर, Ьनेलसे Ьील स ेसाफ करना आसान है

Correct Answer :­Copper is better conductor of heat than the stainless steel. / कॉपर, Ьनेलसे Ьील से
ऊѴा का बहेतर चालक ह ै

24)

Question Stimulus :­

∆ABC ~ ∆DEF and their areas are 64 cm2 and 121 cm2, respectively.  If EF = 15.4 cm, find
BC. / ∆ABC ~ ∆DEF और उनके 䤀퐅jेफल ïमशः 64 समेी2 व 121 समेी2 हġ। यिद EF = 15.4 समेी ह,ै तो BC 倀ꔃात
करो।

11.2 cm / 11.2 समेी

15 cm / 15 समेी

11 cm / 11 समेी

12.4 cm / 12.4 समेी

Correct Answer :­11.2 cm / 11.2 समेी 

25)

Question Stimulus :­



Why is Silver used in making  mirrors, which we all use in the dressing room of   our
homes ? / हमारे घरो ंके mृंगार क䤀퐅 मg हम सभी के ¸ारा ĸयोग होन ेवाल ेदपᤀ漄ण के िनमाᤀ漄ण मg चादँी sो ंĸयोग की जाती ह?ै

because Silver is more malleable and ductile and shines. / sोिंक चादँी अिधक आघातव䨀㈄य एव ंतΎ एवं
चमकदार ह।ै

because Silver is cheaper than gold and readily available. / sोिंक चादँी सोन ेस ेसЭी ह ैऔर आसानी से
उपलᬀ笃 ह।ै

because the surface of Silver is a good reflector of light / sोिंक चादँी की सतह ĸकाश की अẅी परावतᤀ漄क
ह।ै

because Silver does not react with air and water.  / sोिंक चादँी वाय ुऔर जल के साथ ĸितिïया
नही ंकरती ह।ै

Correct Answer :­because the surface of Silver is a good reflector of light / sोिंक चादँी की सतह ĸकाश की
अẅी परावतᤀ漄क ह।ै 

26)

Question Stimulus :­

If the shaded region AOB is a quadrant of the circle, then ∟AOB = _________ / यिद छायािंकत 䤀퐅jे AOB, वतृ का चतथुाᤀᘅश
ह,ै तो ∟AOB = _____________ ह।ै

90o

80o

180o

100o

Correct Answer :­90o 

27)

Question Stimulus :­

The radius of a circle with area 154 cm2 is ______________ / वृ̃ का 䤀퐅jेफल 154 समेी2 ह।ै उसकी िj伀稁ा होगी
______________

49 cm / 49 समेी



24.5 cm / 24.5 समेी

7 cm / 7 समेी

14 cm / 14 समेी

Correct Answer :­7 cm / 7 समेी 

28)

Question Stimulus :­

Metallic rocks are called / धाᤀ漄̆क शलै कहलात ेहġ

Gangue / गġग

Slag / धातमुल

Flux / 礀䬄хť

Ores / अयЧ

Correct Answer :­Ores / अयЧ 

29)

Question Stimulus :­

Answer the questions that follow based on the following data: / िनηिलᤀ漄खत डटेा के आधार पर आने
वाल ेĸЍो ंका जवाब दg

Which year has his hike %age been the highest? / िकस वषᤀ漄 मg बढ़ोतरी ĸितशत सबस ेअिधक îई ह?ै



2006

2007

2008

2009

Correct Answer :­2007 

30)

Question Stimulus :­

To prepare a conducting liquid, which of the following should be added to distilled water? 
/ चालक ĵव का िनमाᤀ漄ण करन ेमg, िनη मg स ेिकसको आसतु जल के साथ िमलाना चािहए?

Alcohol / एπोहॉल

Honey / शहद

Acid or base / अμ या 䤀퐅ारक

Sugar / चीनी

Correct Answer :­Acid or base / अμ या 䤀퐅ारक 


